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Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
BERXFE 94 B> X 104.0 1,570 100
RXAIH LA 174.7 980 200
JUH LA 533.3 550 50
LEHLA 1,758.7 300 20
<AOLA 385.8 429 129
XA LA 294.7 300 20
HNSAHLA 2,327.5 50 20
F+77>39 95.7 300 40
HFHS 177.7 40 20
>0OX/)VUl 33.4 750 300
AXF 21.8 700 56
JdEHAN 193.9 100 20
ESWYXHZ 65.9 600 150

T2

6,167.1




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 94% |ESA 1,773.3 2,300 200
ASHLA 103.5 500 400
<3aHLA 391.5 1,550 130
F7>37 49.4 100
RZF 22.2 800 300
CHE 2,339.9




